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Corrigé de I'exercice 1

Réduire, si possible, les expressions suivantes :

>1.

»2.

»>3.

A=22%— (—2302)

A= (2+2)2?
A=47?
B =5t x (—4)

B=5xt?x (—4)

B=5x(—4) x t?

B=-20¢*
C=4y—-9y
C=(4-9)y
C=-5y

Corrigé de I'exercice 2

»4. D =T72% + 522
D = (7+5) z*
D =122

5. F = -9 x8x

F=-9xzx8xux
F=-9x8xxXxx
E=—-722%

»6. F'=3ax(—1)

F=3xax(-1)

F=3x(-1)xa

F=-3a

Réduire, si possible, les expressions suivantes :

>1.

»2.

»3.

A=5x 1022

A=5x10 x 22

A=502"

B=6a—-9a

B=(6-9) a
=—-3a

C=-2a®x (-7)
C=-2xa®x(=7)

C=-2x(=7) xad?
C =144>

Corrigé de I'exercice 3

4. D=—10t — 10t
D = (10 —10) ¢

D =-20t

»5. F=6a—2a
E=(06-2)a
E=4a

»6. F'=—6t+ 8t
F=(-6+38)t
F =2t

»7. G=—-4x5y
G=—-4x5xy
G=-20y

Réduire, si possible, les expressions suivantes :

>1.

> 2.

A= —7y2 —4y2

A= (=7-4) ¢
A=—11y>

B=6t>—-10t>
B =(6—10) ¢

B = —4¢?
»3. C =z x (—3x)

C=zx(-3)xzx
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»7.

»8.

»9.

»8.

»9.

»4.

G=5y—3y
G=0b-3)y
G=2y

H = —-10 x 9a?

H=-10x9 x a®

H = -90d*
I=2y—(-9y)
I=(24+9)y
I=11y

H =1022 x (—6)
H =10 x z° x (—6)
H =10 x (—6) x z2
H = —60 2>
I=5ax(=5)

I =5xax(-5)

I=5x(-5)xa

I=-2a
D=3z%2x8
D=3x22x8
D =3x8 x 22
D = 2477
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E=0

»6. F =6 x (—10¢?)
F=6
F

Corrigé de I'exercice 4

»7.

> 8.

Réduire, si possible, les expressions suivantes :

1. A= -8t — 7t
A=(-8-17)t
A=—-15¢

»2. B=T72%x(-5)
B =17xx?x (=5)
B =17x(=5) x z*
B = —-3522

3. C=2a+7a
C=02+7a
C=9a

Corrigé de I'exercice 5

»>4.

»5.

»6.

D = —-10t* — 8>
D = (—10 —8) ¢
D = —18¢*

E =-2a%+3ad?
E=(-2+3)a’
E=a?
F=-2zx(-5)
F=-2xuzx(-5H)
F=-2x(-5)xx
F=10x

Réduire, si possible, les expressions suivantes :

»1. A=3t— (=91
A=(3+9)t
A =12t

»2. B=—-4y%> x5
B=-4xy’>x5
B=—-4x5xy?
B =—-20y>

»3. C=—-Ty— 10y
C=(-7-10)y

C=-17y

Corrigé de I'exercice 6

»>4.

»5.

»6.

D=-2a’>x7
D=-2xa*x7
D=-2x7xa
D= —14a?
E=-10yx6y
EFE=-10xyx6xy
EFE=-10x6xyxy
E =—60y>
F=6ax(-10a)
F=6xax(-10)xa
F=6x(-10)xaxa
F=—-60a”

Réduire, si possible, les expressions suivantes :
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»9.

»7.

»8.

»9.

»7.

»8.

»9.

H = —-30d>

I=Ta+2a
I=(7+2)a
I=9a

G =12 x(=T)
G=-Txt
G=-7t

H=-32°
I=52*+3z
G=10a+6a
G=(10+6)a
G=16a

H=-5t—(—61)

H=(-5+6)t
H=t
I=-2x10y?

I=—-2x10xy?

I=-20y
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1. A= —7x 42> »4. D =9t x 10t »7. G = —x — 822
A=—-Tx4xz? D=9xtx10xt G=-82>—=
_ 2 _
A=-282 D=9x10xtxt »8. H =10 x (—21?)
»2. B =8z +62> D =90t )
H=10x(-2)xy
B = (8 4+ 6) z? »5. E=10x x (=7)
H=-20y>
B =142 E=10xz x (=7)
»9. I =10 x 10¢#?
»3. C=9a—(—Ha) E=10x (-7)x =z
I=10x10 x t?
C=(9+5)a E=—-T0z e
_ 2
C=14a »6. F = —4a%—6 I'=100¢
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